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SN SR
HE: sARWA 23
ool HBPSY S4 (B9 ®R)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OWslasie StusANAde NEgol A
< 120,976
N 75,610
= 45,366
XEtEdsHA =2 34,000 34,000 0
= 34,000
301 Bt A= 34,000 34,000 0
= 34,000
11 JIEtE A2 34,000 34,000 0
OrEBAHA==IANEXEAL 34,000
= 34,000
YRS H THIX (HEAY) 29,400 19,600 9,800
< 8,820
= 20,580
101 2121 H] 19,600 9,800 9,800
& 5,880
= 13,720
04 JI2tHIZ22NEE S 19,600 9,800 9,800
Ogts=EH X2 BX Q1Y
2,800,000 75 ™ 19,600
< 5,880
= 13,720
201 LBt 9| 4,480 4,480 0
& 1,344
= 3,136
01 AP 22| d| 4,480 4,480 0
Oe=A2EN AIR22ldl X 4,480
= 1,344
= 3,136
202 044l 5,320 5,320 0
=} 1,596
= 3,724
01 2L I 5,320 5,320 0
OYsHAA=MH €248 =H WY 5,320
& 1,596
= 3,724
=X EZ(TH) 300,000 319,600 £19,600
< 150,000
= 150,000
301 LBt A= 300,000 300,000 0
& 150,000
= 150,000
11 JIEtE A= 300,000 300,000 0
Og=sdA=M A 400,000 x750ha 300,000
o= 150,000
= 150,000




SN R
HE: =AW 23
Sl HBASY |4 CERED
SA BB (S) - MRAY - BAS 0l &k o4 il Hl DS 2
YENE #FY N 24,000 7,400 16,600
2 24,000
101 9121 bl 5,027 5,027 0
2 5,027
04 JIAHIRRSE S 5,027 5,027 0
OLSYAXNEHAY ST 012y
718,142,858 +7 4 S ©f 5,027
2 5,027
201 Yur2 bl 4,393 1,393 3,000
2 4,393
01 AR 22l 4,393 1,393 3,000
OLsAREH ARl 7Y 4,393
2 4,393
202 01 bl 14,580 980 13,600
2 14,580
01 2ot bl 14,580 980 13,600
OLsYUNEN 248 S0/ 14,580
2 14,580
IEEREE 592,000 599,400 AT,400
2 592,000
301 LB A3 592,000 592,000 0
2 592,000
IEERE! 592,000 592,000 0
OLsAREH =4 N¥ 400,000 +1,480ha 592,000
2 592,000
RS 5.129 0 5,129
2 5,129
201 Yot 2 bl 3,590 0 3,590
2 3,590
01 A2 22l 3,590 0 3,590
OLHLHRNES AREZ 3,590
2 3,590
202 04t 1,539 0 1,539
2 1,539
01 2ot bl 1,539 0 1,539
OLHLHNES &ZoiH| 1,539
2 1,539
AHIX XEY HBES L BEEAY 10,500 6,300 4,200
= 4,500
2 6,000
402 2I2tXrE201 & 10,500 6,300 4,200
= 4,500
2 6,000
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HE: sARWA 23
ool AEASY S4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 10,500 0 10,500
OAHIKN X=E HEas & HESEAMY
15,000, 000& *13] x70% 10,500
< 4,500
e 6,000
& ael 7,115,548 6,091,052 1,024,496
= 3,843,531
X 310,000
J| 22,214
< 281,437
s 2,658,366
gz 2 (XIXA) XA 2,767 2,767 0
= 2,767
202 O4dl 2,767 2,767 0
= 2,767
01 = LH 4 Hi 2,767 2,767 0
OF=Zd=s2a &0 4 20,000&+138.35¢ 2,767
= 2,767
MAES BEAEN 1,756,709 1,756,709 0
301 et a = 1,756,709 1,756,709 0
NMIIEEd=S 1,756,709 1,756,709 0
OALASSEdA=N N& 1,756,709
—&dsX4d 645,852& *2,000ha 1,291,704
—HdEXH 484, 380& *960ha 465,005
M= BHZH N 22,214 22,214 0
J| 22,214
201 et 5,880 5,880 0
J| 5,880
01 At 22l 5,880 5,880 0
OUASSEINEZN SAMAAAS BH=E
70,000 »28%H *33] 5,880
J| 5,880
202 044l 16,334 16,334 0
J| 16,334
01 = LH o4 1l 16,334 16,334 0
OUASSEAdINIEANZM Ol&8ASY B 16,334
J| 16,334
HASEBHEDNFXNZINES 3,840,764 3,840,764 0
= 3,840,764
301 e A3 3,840,764 3,840,764 0
= 3,840,764
1MIIEELES 3,840,764 3,840,764 0
ORASSBHNEI(DH)
979,786.73&%3,920ha 3,840,764
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0 19 19
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e oX 0
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| = 3,840,764
MAME M DOAS 336,534 436,498 A 99,964
& 168,267
= 168,267
301 LBt A= 135,534 102,626 32,908
= 67,767
= 67,767
11 JIEtE A2 135,534 102,626 32,908
OXMAMATY DAL (XNEBZ=E HE S2AALNA)
200,000 %677 .67ha 135,534
& 67,767
= 67,767
402 BI2H X 20| M 201,000 333,872 N 132,872
= 100,500
= 100,500
02 QIZEXIEANISE X (0| XM THL) 201,000 0 201,000
OMAMSE HDAS (A2 THEAY)
335,000,000& *60% 201,000
= 100,500
= 100,500
SEXNE S MG (H SUHASI] XEAE) 12,000 0 12,000
Xl 10,000
= 2,000
402 BI2H X 20| M 12,000 0 12,000
Xl 10,000
= 2,000
02 QIZEXIEAISE X (0| XM THL) 12,000 0 12,000
OH =AED A 4,000,000 «5CH *60% 12,000
N 10,000
o 2,000
NE=s FEDANE ALY 298,080 0 298,080
307 2izto| A 298,080 0 298,080
02 QIZIA AAIE E X 298,080 0 298,080
Oln8s 2K ALY
3,000 124, 2004 X *80% 298,080
=ENE SSMAS X (2L Rice-up T2RE 390,000 0 390,000
XA )
Xl 300,000
= 90,000
402 SI2t X0l ™ 390,000 0 390,000
Xl 300,000
= 90,000
02 QIZtXIE A E X (0| X THSH) 390,000 0 390,000
ONEM Rice-up Z2ME XS 390,000
Xl 300,000
= 90,000
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HE: sARWA 23
el T CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
AT KA 32,100 32,100 0
402 2I2H X201 M 32,100 32,100 0
01 2I2E 2 A B (RERTH ) 32,100 32,100 0
ONZIHI X ALY 32,100
Hat =2 ALY 424,380 0 424,380
= 113,170
i 311,210
301 L2 A= 424,380 0 424,380
< 113,170
s 311,210
11IIEEAS 424,380 0 424,380
Orgt =& 2] 424,380
< 113,170
[ia 311,210
THEAZHZXNEAN 327,832 327,832 0
= 262,266
< 19,670
s 45,896
A=A =EZ 327,832 327,832 0
= 262,266
< 19,670
[ia 45,896
301 L2 A F 327,832 327,832 0
= 262,266
< 19,670
i 45,896
MIEE43 327,832 327,832 0
OXdEcXNY HAZXNEN Ba=kas 327,832
= 262,266
= 19,670
s 45,896
Sgi=s 4335 2,971,444 3,528,825 A 557,381
= 309,113
Xl 1,063,890
| 40,000
< 184,353
s 1,374,088
FHXNAER XA 5,920 5,920 0
201 Let24d] 420 420 0
01 At 22l 420 420 0
OEZ2X S&Hl 7,000& x3H »20 420
202 o4dl 5,500 5,500 0
01 = LH o4 1l 5,500 5,500 0
OCUXAIR =& 5,500
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el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
LB MAXA 220,000 278,000 58,000
402 2I2H X201 M 220,000 278,000 /58,000
01 2I2E 2 A B (RERTH ) 220,000 278,000 A 58,000
OLEHAMAIEY XA 220,000
—Sg2F 7,000,000& x50 *x50% 175,000
—s&Es A 3,000,000& *30CH x50% 45,000
QI AT M ALCHT] R A AHY 116,000 116,000 0
402 RI2FX=0l M 116,000 116,000 0
01 2IZEH 2 A B (KR ) 116,000 116,000 0
OQI&THE AlE XA 2,409& 120,381 m" x40% 116,000
QO XHRI & At 45,052 243,120 A 198,068
402 RIZFX201 A 45,052 243,120 A 198,068
01 U2 EALE X (KA R) 45,052 243,120 A 198,068
O20/x K& 45,052
— THUHAI A 7,740& 10,000 m" x40% 30,960
— oA E 2,0743%10,000m" x40% 8,296
— M=A& 1,449& 10,000 m" x40% 5,796
d HT3sY SEAY 303,680 280,000 23,680
402 2I2H X201 M 303,680 280,000 23,680
01 2IZE 2 A B (RERTH &) 303,680 280,000 23,680
o 84&=g &4 303,680
— S OHTHEH KT & 9,320& +60,000m" x40% 223,680
— MAAEX (M0 AHZF)
20,0003 *10,000m" x40% 80,000
SENE SHMYSHN(NASSHESHLGRAX 436,668 1,238,400 £801,732
2l)
Xl 363,890
e 72,778
402 RIZEX20l A 436,668 1,238,400 A 801,732
Xl 363,890
s 72,778
02 LA TEALEZ(0IETHR) 436,668 1,238,400 A 801,732
OAldoteA XA 436,668
Xl 363,890
[ia 72,778
SENZ SIS NI (EMEERY) 660,000 895,000 A 235,000
Xl 550,000
[ia 110,000
402 RI2HXt20l ™ 660,000 895,000 A 235,000
Xl 550,000
s 110,000
02 2IZt 2 AL EZ (OIS ) 660,000 0 660,000
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sE20F HIHXRZZAIE XA 5,281 35,300 A 30,019
2,113

950
2,218

Mo R

402 212t A= 01 & 5,281 35,300 A 30,019
2,113

950
2,218

Mo R

02 (I 2 ALEX(0OIETHR) 5,281 0 5,281
a4 dxXN3 5,281
2,113

950
2,218

A

ANEoteA 2F eI & 17,663 27,780 A10,117
5,299
12,364

EUNL

402 2I2tX2 01 & 17,663 27,780 A10,117

5,299
12,364

Mo

02 QX =AMEEE(0IATHE) 17,663 0 17,663
OAl&steA 28I K& 17,663
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12,364
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9,000
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S

M

402 2I2tXt=01 & 50,000 50,000 0
20,000
9,000
21,000

S

UL

02 QA 2AMLEZ(0IXTHE) 50,000 0 50,000
O=g S3HMAHAAE 25 X& 50,000
20,000

9,000
21,000
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300,000
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SN S
HE: sARWA 23
Sel: SaEe ¥Es CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 CIZEXIEAIS EX (0| XM THL) 750,000 0 750,000
OLBtANAIAE X 750,000
= 300,000
o= 135,000
= 315,000
SENAESSAMASR (S MAN SAXH) 180,000 0 180,000
N 150,000
= 30,000
402 SI2F X0l & 180,000 0 180,000
N 150,000
= 30,000
02 CIZEXIE A E X (0| &M THS) 180,000 0 180,000
Odu&=2 aloIHE e K& 180,000
Xl 150,000
= 30,000
EIXNS AL KK (elah) 17,500 0 17,500
= 7,000
= 10,500
402 BI2H X 20| M 17,500 0 17,500
= 7,000
= 10,500
02 QIZEXIEAISE X (0| XM THL) 17,500 0 17,500
OEZZZ MAAL SIS XA (Q1AH) 17,500
= 7,000
o 10,500
EZXNS ALEUs N (HA, =X, 42 =) 50,000 0 50,000
J| 20,000
= 30,000
402 SI2FXHE0| & 50,000 0 50,000
J| 20,000
= 30,000
02 BIZtXIEANYEX(0IETHH) 50,000 0 50,000
OEE&Z2 MAAAL Slst N (HA, =,
s =) 50,000
J| 20,000
= 30,000
2HEHE AQIEDZ S AAIY 113,680 0 113,680
&< 34,104
= 79,576
402 It X201 M 113,680 0 113,680
&< 34,104
= 79,576
02 CIZEXIEAIS X (0| XM THL) 113,680 0 113,680
OHsSE ICTEEE AMA oIAXEH 113,680
o= 34,104
= 79,576
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SN sYHH
HE: sARWA 23
te: sitg RS2 id (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
st RS2 Hd 1,547,158 1,018,136 529,022
= 62,663
X 438,290
< 98,799
s 947,406
SHERSYRFIY 29 5,300 19,300 214,000
201 £8-2d | 1,400 1,900 A 500
01 At 22l 1,400 1,400 0
OB+2 SHOIEY 2905 BA+g S
70,0003 x5& 43 1,400
202 04 Hl 3,900 3,600 300
01 = LH 4 Hi 3,900 3,600 300
»SgR =4 3,900
dF=IMESASAAZ ZIHHl N JALS 12,800 0 12,800
307 glz2tol & 12,800 0 12,800
02 It M AHE X 12,800 0 12,800
ORFRHLEABZAATE Y|
1,600, 000& *107H 2= «80% 12,800
S - SME IS4 E S0t A KNEAY 50,000 50,000 0
402 2I2H X201 M 50,000 50,000 0
01 212t 2 A E = (REMTH ) 50,000 50,000 0
Osdts Itsas sotaa X
2,000& *62,5000H x40% 50,000
SENE SSMASFXA(MAX 223 L SEO0H 80,000 135,200 255,200
g 243 XA)
Xl 50,000
s 30,000
307 g2+l & 80,000 135,200 A 55,200
Xl 50,000
s 30,000
02 It A AHEE 80,000 135,200 A 55,200
0S8 H2XH sS4
100,000, 000& *80% 80,000
Xl 50,000
i 30,000
tEsdE =270 XA 266,667 300,000 A 33,333
< 80,000
s 186,667
307 glz2tol & 266,667 300,000 A 33,333
S 80,000
s 186,667
02 It M AHEE 266,667 300,000 A 33,333
OUldsdtE =22 F/Hl N& 266,667
= 80,000
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2N sYEH
HE: sARWA 23
el s&E RS7E N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 186,667
SHE REAMNE HES N AL 17,500 10,000 7,500
401 Al HI R 201 I 17,500 10,000 7,500
01 A& Hl 17,500 10,000 7,500
Osdts RFSAE HESH X
17,500,000& *1JH £ 17,500
SENE SN (a2 433 JIgRR) 560,000 0 560,000
Xl 350,000
[ia 210,000
402 RI2FXt20l ™ 560,000 0 560,000
Xl 350,000
i 210,000
02 It 2 AL EZ (01X TH ) 560,000 0 560,000
OsttE &SI E ALY
700,000,000& =1 2 «80% 560,000
Xl 350,000
[ia 210,000
sSENE SN (sste 284 HESA 64,064 72,000 27,936
2Ar)
Xl 38,290
s 25,774
402 RI2EX=20l A 64,064 72,000 AT,936
Xl 38,290
fia 25,774
02 LA TEALEZ(0IETHR) 64,064 72,000 AT,936
OSF&H EEZHl NI AY 64,064
—SoAEAT 7Y 62,580,000% 14l x80% 50,064
Xl 31,290
s 18,774
- NAX 7 35,000, 000+ 1 CH 40% 14,000
Xl 7,000
s 7,000
QOIX JIEBZE XEAME 65,000 70,000 A5,000
307 21201 A 15,000 20,000 A5,000
02 YAFAAFEX 15,000 20,000 A5,000
Os2d XA 15,000
402 RI2EX20| ™ 50,000 50,000 0
01 2I2F 2 AL B (REMTH ) 50,000 50,000 0
Oz oHedl XA 8,000& *12,500kg*50% 50,000
=5cl JlgY s4 A 15,500 15,500 0
308 XXM SO A 15,500 15,500 0
07 IXNHMAR S = 15,500 15,500 0
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SN S
HE: sARWA 23
2 sdE FS2E A (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXY9dD(20IX) sMtH=sd X
15,500, 000& 14! 15,500
SSHEHl (s&t2 3SE6 EUHXL) 89,221 107,228 A 18,007
= 44,610
< 13,383
s 31,228
307 gl2tol & 89,221 107,228 A 18,007
= 44,610
< 13,383
= 31,228
02 IZtA M AIHE L 89,221 107,228 A 18,007
OZ2s=0t SsHEH X&
178,442 ,000& *50% 89,221
= 44,610
< 13,383
s 31,228
Qet=sd= N2 HELD XA 62,500 50,000 12,500
402 QI2H X201 M 62,500 50,000 12,500
01 2I2F 2 A E = (RERTH ) 62,500 50,000 12,500
Os¢Eud & 2410 XA
12,500,000& »10= *50% 62,500
= 2782 M2MED KNFAY 187,500 150,000 37,500
402 RIZEXtE0| A 187,500 150,000 37,500
01 212t 2 AL E = (REMTH ) 187,500 150,000 37,500
Ot A7 2 H2HELD X 187,500
—33m (10%) 25,000,000& 53 *50% 62,500
—66m (208 ) 50,000, 000& x5 *50% 125,000
SAES0HAE X3 36,106 38,908 22,802
= 18,053
< 5,416
s 12,637
307 21201 A 36,106 38,908 22,802
= 18,053
< 5,416
s 12,637
02 IZtE M AIHE L 36,106 38,908 22,802
O=s¢tE OHAHE XI& 36,106
= 18,053
< 5,416
[ia 12,637
20ay SEHE =g 24 35,000 0 35,000
207 A RO 2| 35,000 0 35,000
01 289 35,000 0 35,000
OdMAMALSEHE =8 35,000
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2N
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L= B

el

ERE
A 23t
MEOHY =&

Y. B (3H) - HEAY - BES il 2
S0HAHEY =& 159,030 146,518 12,512
< 1,000
= 158,030
AMSZ0AHE 483 F&A 12,243 11,471 772
201 LEr2 Y| 7,343 7,071 272
01 At 22l Yl 5,500 5,250 250
OS2 28l X2 7,000 x5 x50 1,750
OgRFA ZHIIE HEH 50,000 =4504 2,250
OZdHZely 2ditbls X2 500,000 *x34 & 1,500
02 3524t 1,843 1,821 22
OFMARA oY & NH3IR2
60,000& x12JH4 & 720
OYLEA SHLBE 350
EME=& 24| 1,355& %1904 *3& 773
202 (4] 4,900 3,400 1,500
01 2LHOHI 4,900 3,400 1,500
OsAZ0HAHEY gR2FA 3,900
OEtAIZ =H #IX 0ot 1,000
SSHAE 2212 AZE=E 29 ¢ & 108,037 106,047 1,990
101 2124 d| 18,837 18,047 790
04 JI2ZtHI22NHSE 18,837 18,047 790
OsY 18,837
-Je23 51,800& x2462 x1H 12,743
—R=25dxg 51,800& #6522 x1H 2,694
-4l B8 = 250,000& x1H x12& 3,000
— @E F It 200,000& *23| 400
201 Bt A | 50,000 50,000 0
01 AP 22l Yl 30,000 30,000 0
OALd28 =24 30,000
02 53294l 20,000 20,000 0
Oactol 282 &2 FA22 20,000
307 212t0| & 20,000 20,000 0
02 DIZtZAAMEE X 20,000 20,000 0
OEtHigl XI& 2,500& *8,00021 20,000
402 22t X201 A 19,200 18,000 1,200
01 DIZFXI2AIE E X (XM THE ) 19,200 18,000 1,200
Ootisg &4 X3 1,600& *30,0000H *40% 19,200
12 SS&E HilA & 6,250 0 6,250
402 212+ X 20| & 6,250 0 6.250
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SN S
HE: sARWA 23
¢ =AS0HHE =X (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2IZEH 2 A B (KR ) 6,250 0 6,250
Ol sS4E Bl EX XJAY
2,500,000& x5 2 *50% 6,250
SSNMES Y B0 245 ALY 2,500 5,000 A 2,500
= 1,000
s 1,500
307 glz2tol & 2,500 5,000 A 2,500
< 1,000
s 1,500
02 IZHE M AHE X 2,500 5,000 A 2,500
O=sS&E Y B0 243 A
2,000& «1,250A 2,500
< 1,000
s 1,500
F2 sSE=E 82 E A HEAAM N 30,000 0 30,000
307 21201 A 30,000 0 30,000
02 It S AHE L 30,000 0 30,000
OFx2 sEU=E 2 2 AHe) HEHAM 30,000
st At =X =8 880,000 630,000 250,000
ez A =H X8 830,000 630,000 250,000
307 glz2tol & 650,000 630,000 20,000
04 DI2HHALALSE E X 650,000 630,000 20,000
O AMB=N KA 650,000
401 Al HI L 2T 230,000 0 230,000
01 A& HI 230,000 0 230,000
OSHEY 2B XY &7 230,000
HE2IAZH (P E ) 35,616 37,466 A 1,850
Jl23dl 35,616 37,466 A 1,850
JlE2&l 35,616 37,466 A 1,850
201 et2 Y| 20,856 22,706 ~1,850
01 At 22l I 15,486 15,105 381
OUEZR=EE 2,100
- =2 15,0002 x32+12& 540
SPNR= N 10,000& 135 123 1,560
O=AEXN 7Y 20,9003 x 15 A %128 3,762
O=sADIgUE & |RA2cldl 542,000& «12& 6,504
OMEESFLH 210,000& »12& 2,520
O3d=J|dUs 50,000& x12& 600
02 232gHl 5,370 7,601 A2,231
ORuesz 30,000& 12 360
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